Soustraction Avec Des Zéros (H)

100
- 29

100
-79

1000
- 485

100
-95

100
-91

100
- 88

100
- 38

Calculez la différence.

1000 100
- 196 -6
1000 1000
- 151 -44
100 100
-19 - 29
1000 100
-412 -19
100 100
-1 -9
100 1000
-41 - 635
1000 100
- 657 -81

100
- 28

100
- 25

100
-13

1000
- 466

100
- 67

1000
- 786

1000
- 584
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Soustraction Avec Des Zeéros (H) Réponses

100
- 29

71

100
-79

21

1000
- 485

515

100
-95

100
-91

100
- 88

12

100
- 38

62

Calculez la différence.

100
- 28

72

100
- 25

75

100
-13

87

1000
- 466

534

100
- 67

33

1000
- 786

214

1000
- 584

1000 100
- 196 -6
804 94
1000 1000
- 151 -44
849 956
100 100
-19 - 29
81 71
1000 100
-412 -19
588 81
100 100
-1 -9
99 91
100 1000
-41 - 635
59 365
1000 100
- 657 -81
343 19

416
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